Electrical
Fundamental of Electricity

01.01 Potentiometer is the variable..............

(a) Resistor (b) Capacitor (c) Inductor (d) None
01.01 Trefermier aRaasfier - 2|

(7) wfa<ry (&) #Fufer (41 e (31) =g T
01.02 Letter notation for switch in Plasser machine electrical drawing is.

(a)b (b) g (c)S (d) K
01.02 T 997 Teifdead ST § ffa= o o0 ofe< Aree™ 2|

() (3fT) T (¥f1) wa &) F
01.03 Earth/ground is denoted in Plasser machine electrical drawing is:

(a) G (b) OD/OA (c)E (d)A
01.03 3ri/ATse &l woma welfia § e [Eeqa smaor & 97T @ &

() Sfr CUIEEE LG I En T

01.04 Letter notation for circuit breaker in Plasser machine electrical drawing:

(@) C (b) e ()b (d) K

01.04 woreex wofi A T  afthe 52 3 T o7 Sohaer & 9t T 8

(T) &t (1) € (#f1) &1 () *

01.05 Ohm’s law is not applicable to:

(a) DC circuits (b) AC circuits (c) Semiconductor (d) None
01.05 ¥ =T Maw e 9 @] 95! graT &

(m) St Al @) wHrafFe () Tferes EHEIERE]
01.06 Current is measured by:

(a) Ammeter (b) Voltmeter (c) Energy meter (d) Ohmmeter
01.06 = T fohereh FIT |T9T SITaT &

(7) THTER (&) Freedier (1) Tt diex (3N) srgHTex

01.07 Which of the following is not a standard wattage of incandescent lamp in India:
(a) 15W (b) 25W (c) 40W (d) 50W
01.07 Foforfed § & FF 9T | Sehede AT fl HI% d1e q9dT Tal o

(T) 15w (1) 25w (€T) 40w (T) 50w




01.08 Size of power cable depends upon:

(a) Type of Insulation (b) Current (c) Voltage
01.08 TTaY FHael T AT 39 I FHT F:aT &
(T) THALT FT THT () F= (#FH) Trees

01.09 One kilowatt hour/1 unit of electrical energy is same as:
(a) 6x10°W (b) 36x10° ergs (c) 36x10° Jules
01.09 U= FheraTe Her/1 e FBEa o s AT gl o

(W) 6x10°W (1) 36x10%rgs (1) 36x10° [

01.10 Voltmeter is used in circuit to measure the voltage:

(d) Power factor

(3) 9T THFeT

(d) 36x10°BTU

(1) 36x10° iy

(a) In series (b) In parallel (c) Both (d) None
01.10 FTeeHtex &1 ITANT f5he Tfhe § ATeast ATIA & forw F-RAT SIT4aT 8
() =T & () THTET & FH) ==t CEHEIEGE
01.11 Ammeter is used in circuit to measure the current:
(a) In series (b) In parallel (c) Both (d) None
01.11 THTex &1 I7=T fhe |fehe | Fie 719+ o forg 3 Smar &
(7) gEar o () TEET § (1) == CEHEIEEE
Answer Sheet
Q. No. Ans. Q. No. Ans. ().No. Ans.

01.01 a 01.05 c 01.09 [

01.02 a 01.06 a 01.10 b

01.03 b 01.07 d 01.11 a

01.04 b 01.08 b




Electrical Components
02.01 Ohmic range of wire wound resistor is:

(a) 200KQ to 300KQ (b) 1Q to 100KQ (c) 500KQ to 1MQ (d) IMQ to 10MQ
02.01 aTa¥ gue YfaFe il AfHF I &

() 200KQ & 300KQ (&) 1% 100KQ (#T) 500KQ & 1MQ () IMaQ T 10MQ
02.02 Wattage range of carbon composition resistor is:

(a) 1/8 to 2W (b) 3to 5W (c) 6 to 10W (d) None

02.02 FTa HUTSTe LFEeT Ff qTe AT I 5.

(M) 1/8 F2 W @) 3 F5 w @) 6 F10 w () 1 T
02.03 Wattage range of wire wound resistor is:

(a) 405 to 500W (b) 310 to 400W (c) 201 to 300W (d) Upto 200W
02.03 aTa¥ guE YfHFe il FTe AHqr d 4T &

(T) 405 & 500W @) 310 ¥400 w (@) 201 F300 w (F) 200 waF

02.04 Max-value of Resistance of potentiometer which is used in transducer:

(a) 6KQ (b) 5KQ (c) 1KQ (d) None
02.04 wrEfrTHTes & TiAaTre T ATaFaH-ged ST gaedY § ST T SITaT &
(T) 6KQ (&) 5KQ (#) 1KQ (3T) =TS T2l

02.05 In short circuit reading ON ohmmeter will be:

(a) Zero (b) Infinite (c) 10 MQ (d) 100 KQ
02.05 << gfehe § AAHTeT 9T AT gRi:
(@) o= CUIELE (/1) 10 mMQ (1) 100 KQ

02.06 In open circuit reading on ohmmeter will be:

(a) Zero (b) Infinite (c) 10 MQ (d) 100 KQ
02.06 A9 HThe H AHHIEL 9T LTS ZHA:
(1) o (@) wa ) 10 MQ () 100 K

02.07 What is resistance of 100W/220V bulb is:
(a) 5000 (b) 4840 (c) 8480 (d) None
02.07 100W/220V aee T ITa<rer 4T &

(T) 5000 (1) 4840 (&) 8480 EUIEIERE



02.08 Max tolerance value resistor is used generally:

(a) 1% (b) 4% (c) 5% (d) 10%
02.08 wTA¥re T ATARAHR T AIEALHT ATHA T T AN AT ST &
(™ 1% (&) 4% () 5% (&) 10%

02.09 If temperature is increase the value of resistance Will be:

(a) Decrease (b) Increase (c) No effect (d) None
02.09 =f= I & gl Bt & AT TALTe FT AWH _ gHi:
() i (&) afa (Fh) FrE AT TR H (3N) FE TEH

02.10 Ohmic range of carbon composition resistor is:

(a) 30 to 100MQ (b) 115 to 220MQ (c) Upto 22MQ (d) None
02.10 e FHOTorerT IeEe< T ATTHF IF &
(7) 30 ¥ 100 MQ (&) 115 #1220 MQ () 22 mQT=F CEOEIEEE

02.11 Which relation is correct:

(a) b =RA/I (b) p=1A/R (c)p=RIA (d) None
02.11 =1 &7 Hae qET 2
(T) b=RA/I (&) b=1A/R (#1) b= RIA (31) None

02.12 Why should not touch the ohmmeter wire during measurement of Resistance by ohmmeter ?

(a) Can be electric shocked (b) Resistor may be ground
(c)Ohmmeter show less value (d) Resistor may be short circuit
02.12 SArHHTe< g1 TTa<re &l 71T % 0 AHHIE & q18 &/l F1 Tgl gl AT gu?
() farsTeft T =reeFt &1 w1 ¢ CORIEREPIECE R E XL

(F) AweTeT w0 gog fREmar g (31) wfare oTfe |iehe g1 That g

02.13 The current following through a resistance is always in phase with the voltage across it irrespective of

wave shapes. ( True/False)
02.13 Te WTAre & ATETH F TATd &1L ZHAT T o AT o STaS[E ATeesT & d1 T | Il 87?
(TEV/3TeTd)

02.14 Tolerance is the permissible plus or minus resistance deviation in the normal resistance value.
(True/False)

02.14 TreH FTHT TALre o § 8T Wd I7 q1249 T &= gl (EEY/ATerd)



02.15 Resistance has polarity. It can not be used in any direction. (True/False)

02.15 9Ty & gaar gidt gl TEeT STANT TRt o [E9m § 7 33T ST 9ehaT gl (TE/3TeTd)

02.16 The Colour band on the extreme left in general purpose fixed resistor represents:

(a) First significant digit (b) Tolerance (c) Wattage rating (d) Voltage rating
02.16 ¥ 9l | foharee Ty a9 are A f2aq 7 §T qaiar g
(1) TEAT HETAT S (1) TTeR=d (¥fT) =me ewar T () arees T

02.17 Ina5.6Q +10% carbon composition resistor, the colour of last strip from left side is:

(a) Golden (b) Silver (c) Green (d) Black
02.17 5.60 10%, FTa+ FUTorer Tawee #, a7 A 7 sifqw 7t 71 41 2
(T) = (1) =TT (#1) =z (1) Frer

02.18 In a resistor colour coding sequence is Brown, Black, Green and Golden, then the valve of resistor will
be:

(a) 1KQ+ 10% (b) 10KQ +5% (c) 100K + 10% (d) IMQ + 5%
02.18 T LT § FAL FIST A& JT3, soieh, AT 3T Meed g, qT LHEe T qied gHT:
(M) 1kQ 10% (#1) 10KkQ 5% (1) 100K 10% (1) 1MQ 5%

02.19 In a 47KQ £ 10% resistor sequence colour band will be:

(a) Yellow, Violet, Orange and Silver (b) Yellow, Violet, Yellow and Silver
(c) Yellow, Violet, Brown and Silver (d) Yellow, Violet, Brown and Gold
02.19 47KQ 10% Y¥ee< SATHA § W[ 5 ghT:

() YT, ST, AT S =Ty (&) e, S, T e =i
() e, SR, T i () e, e, ST e FT

02.20 If three resistance 2Q), 4Q & 6Q is connected in parallel the total value of resistance will be:

(a) Less than 2Q (b) More than 20 (c) Less than 1Q (d) More than 6Q
02.20 =fz 9= afaary 20, 4Q ¥ 6Q FT THIGL FH § ST AU T TALre FT FA AT ST
(T) 209 %9 () 207 srfa= (71 10T 7 (3N) 6Q T Aferw

02.21 Two 1KQ, %W resistor are connected in series, their combination resistance value and wattage will be:
(a) 2KQ, ¥2W (b) 2KQ, 1W (c) 2KQ, 2W (d) 1KQ, %W
02.21 =T 1KQ, LWHFITAUL FFAT | [ §U 8, ST HATSH TIALTe /I ST a7 &79aT g

(T) 2KQ, %W (&) 2KQ, 1w (#) 2KQ, 2w (1) 1KQ, %W




02.22 100 resistors of 100Q each are connected in parallel, their equivalent resistance will be:

(a) 10000 (b) 100Q (c)1Q (d) 1/1000 Q
02.22 100Q % 100 TA¥res TG § I g &, STHT Qo e g

() 10000 (&) 1000 (#) 10 () 1/1000Q
02.23 A resistor having no tolerances band will have:

(a) No fixed value of resistance (b) Least variations in value of resistance

(c) 10% variation in resistance value (d) 20% variation in resistance

02.23 AT e H S€ aATer LHEeT & ITH gT:

(7) ST T s WS goF Tl (1) warg & 97 ¥ 7 ¥ 77 Jadd

(+1) wfaars Te7 & 10% forerar () aag 7 20% fH=ar

02.24 What is the multiplier for black colour:

(@)1 (b) 101 (c)10-1 (d) 102
02.24 =Tel 37 T IO F47 &

(@) 1 (&) 101 (1) 10-1 (1) 102

02.25 When two resistor R1 and R2 is connected in parallel which relation of equivalent resistance (R) is
correction:

(a) Rj+R (b) RixR; (c) R,+1_ (d) Ro+1
R,;+R, R,+R: B R
02.25 S &7 IfargR1 ¥ R2 THIAGY § [ 3Id & df THqe e (R) FT Fid A7 66 5
(a) Rj+Rs (b) RixR> (c) Ry+1_ (d) Ra+1
R, +R, B,+R» R- R,
02.26 Application of resistor is not in timer circuit . (True/False)
02.26 YE¥eT T ATIINT S[SHL Aiehe | Aol g (TRt/ATeA)
02.27 General Trouble in resistor is short circuit/open circuit. (True/False)
02.27 € ¥ 99T 0T e Hqihe/Aa gihe gl GETAE)
02.28 Rheostats is a high wattage potentiometer. (True/False)
02.28 TelFee U IF dTe &HdT aTAT TETATHIET B (FRt/ATeAa)

02.29 In colour band resistor max band is:
(a) 3 (b) 4 (c)5 (d) None
02.29 Fo¥ g ¥ ¥ afewan dT ¢

(W) 3 (1) 4 (#1) 5 CURIERE




02.30 In colour band resistor on extreme right in general purpose fixed resistor is:

(a) First significant digit (b) Tolerance (c) Wattage rating (d) Voltage rating
02.30 F< ST foheee TOee ®§ 9197 T § 93 a1 3T BT &

(U) TeAT HEeAq o E (&) e (¥fT) = erwar T () Areest T
02.31 What is the unit of capacitance?

(a) Ohm (b) Henry (c) Farad (d) None

02.31 Ui &l THTs FT 82

(T7) | (=) =l GURRE (3N) FIE T
02.32 Which relation is correct?

(a) C = €0KA/d (b) C = €0Kd/A (c) C = €0KdA (d) None

02.32 I 9T H&e qal 87

(T) C=€0KA/d (1) C= €0Kd/A (}T) C= €0KdA (1) None

02.33 Which is polarized capacitor?

(a) Ceramic (b) Electrolyte (c) Mica (d) Paper
02.33 geisha FUEiemT a7 8?

WREMEED (1) =erFTeTEe GURIERD (3N T
02.34 A capacitor when charged to DC Voltage, What is the stored energy across it?

(a) )% CV? (b) CV? (c) C*v (d) cv
02.34 TF TR STa ST ATt & AT RAT SITAT 8, a7 S5 ITY TUard ol F4T gl 87?
(T)% cv? (&) cv? (71) c’v (=) cv
02.35 Which one is variable capacitor-

(a) Electrolyte (b) Mica (c) Air gang (d) None
02.35 Fuae FYfFe w9 97 8-

(T) TAFEIATEE (<T) AT (¥f1) T A (31) = T

02.36 When two capacitor 2uF and 4pF is connected in series then total capacitance is-

(a) 2uF (b) Less than 2uF (c) 4uF (d) 6uF
02.36 ST 2uF3iiT 4uFa a1 FUTHET @« § T2 214 ¢ a7 el J9Ts gidl 8-

(T) 2pF (1) 2uFa 7 (1) 4ur (1) 6uF
02.37 What is main function of capacitor:

(a) To oppose the current flow (b) to emit heat

(c) To store energy (d) None

02.37 FufHe 7 47 #1d T &

() FAHTT TaTg T F&rer w3  forw (1) T IEtora F: & forw

() T 2 F F o CUEIERGE



02.38 Which capacitor is largely used-

(a) Mica (b) Ceramic (c) Air (d) Electrolyte

02.38 e FufeeT &7 Afeeshae T 6T ST 8-

(T) A= (&) et (#f1) =g (3N) TAFIATEE

02.39 What is the trimmer capacitor-

(a) Variable capacitor (b) Fixed capacitor (c) Variable Register (d) None

02.39 few< Fufee #47 g-

() gREatT FReT (&) AT st (F) aREdafr e (31) FE T80

02.40 What is the die-electric constant of air-

(@)o (b) 1 (c)4.2 (d) 8

02.40 aTq FT STE-ToA (¢ HAqTH F4T &-

(m) O (&) 1 (1) 4.2 (37) 80

02.41 One microfarad (uF) is equal to

(a) 10 °F (b) 10°°F (c) 10°F (d) 10°F

02.41 TF ATSAHIERE (UF) _ Faq&aw g

(T) 10 °F (1) 10°°F (#) 10°F (2T) 10°F

02.42 The voltage across an ideal capacitor leads the current through it by 90°. (True/False)

02.42 U= el FARET F7 dreest a7 & 90° i & TR Far gl GRETAEE)

02.43 Insulating material is not called dielectric. (True/False)

02.43 SHATET ATHIAT AT STESATFeH qal Hal STl (TRT/AT)

02.44 Capacitor is used in timer circuit. (True/False)

02.44 YT T ITANT 2128 Oiehe § FRAT SITAT 81 GRITAEE))

02.45 If three capacitor C1, 2C & C3 is connected in parallel (True/False)

then equivalent capacitance is 1/C=1/C; + 1/C, + 1/Ca.

02.45 =fq 1 F&mhear €1, 2C 37T €3 A=A d I & (GRTAEK))

qT TG hATHCH 1/C = 1/C; + 1/C, + 1/C5 B

02.46 Capacitive reactance Xc = 1/ 2nfc. (True/False

02.46 Fufgfea fused xc= 1 GRITAEE))
2ntfc

02.47 Capacitance of capacitor can be increase by increasing the area of plates. (True/False)

02.47 T2T F SAEA FT TETHT FYTHET T GTAT FT TETAT ST THAT & (TRT/ATe)



02.48 The relation g = CV is.
02.48 Haarq=CVg |

02.49 Leakage is a trouble in capacitor.

02.49 Fufee ® =frehol T THET T |

02.50 Variable capacitor is not used in tuning circuit.
02.50 = gfehe § IRTAS FUTHET FHT ITIRT TG1 63T STTaT g

02.51 What is the unit of Inductance?

(True/False)

(GRUAKE)!

(True/False)

(GRUAKE)!

(True/False)

(FET TeTa)

(a) Henry (b) Farad (iii) Ohm (iv) Ampere

02.51 SUSHFH il THIS FAT 5?7

() gr () T (iii) =tra (iv) T

02.52 Choke is an Inductor in which-

(a) Winding is more (b) Less distance between winding  (c) Used iron core

02.52 =T TF Y= g ores-

(d) None

WRCIEEIEER CURCIEEEIR LR (1) g B IR e (S FrE TE

02.53 Transformer working depends upon-
(a) Self induction (b) Mutual Induction (c) Both

02.53 TEHRIHT AT FEATOTAT [HT FIAT 8-
(T) 3Tew I2OT () Tt g (+1) ==

02.54 Variable inductor is used in-
(a) Radio (b) Transformer (c) Motor

02.54 fuae T T TANT AT 14T -

WKER (&) grawmET (&) Hrew

02.55 Iron core Inductor is used where-
(a) Small Inductance required (b) Large inductance required (c) Both

02.55 TR FI¥ TSFL HT TANT F7IT SITaT 8 el 2T 8-
(T7) 7 TTHET T AALTHAT  (ST) SATT SSFH T ALTHRAT (V1) T

02.56 Which voltage is step up or step down by transformer —
(a) AC Voltage (b) DC Voltage (c) Both

02.56 19 9T FTeesT SEFHIHT GIT &9 3T AT T T3 T & -
(T) TEH A (&) ST Aroew ) =T

(d) None.

(1) FrE T

(d) None

(1) FrE T

(d) None.

(1) FrE T

(d) None

() #1< 7L



02.57 If two inductor L1 & L2 is connected in series then equivalent inductance (L) is-

(@yL=L,+1L, (b)L=L, x L, (c)L=1/L,+1/Ly (d)L=Ly+1.
L, + Lo L,
02.57 T 3T I L1 3T 12 J@ar H IS g al 90T 254 (L) -
(a)L.=1,+1» (b) L=L,x Lo (c) L=1/1,+1f/1n (dyL=1+1.
Ly + La L,

02.58 Which is iron core inductor-
(@) Tz @) TS (@#- fo‘a‘%lc‘(ﬁ)— fo‘a/’ézr
02.58 A FIT LA FIAATAT i 4T 8-

02.59 Which is inductive reactance (XL) —

(a) XL =2mfL (b) XL= 2 fC (c) XL = mfL (d) mtfC
02.59 F=faea e (XL) § -
(T)XL =2mfL (1) XL=2nfC (F1)XL= mefL (1) nfC

02.60 A transformer transfers-

(a) AC power from one circuit to another circuit (b) DC power from one circuit to another circuit
(c) Both (d) None

02.60 TF TTEERHT TATHTALIT FHLAT -

(T) T Aihe ¥ AL Alehe § THT ITa< (&1) TF Gfehe & gAY Fihe § ST ITET

(1) = (1) I T

02.61 If coil is short circuited what is reading of ohm meter-

(a) Infinite resistance (b) Zero resistance (c) 100MQ (d) 100Q
02.61 =fx FueT § ATE Aehe g T 3AH e FHT TSI F4T 8-

WIERERIGRE] (&) o afaay (%) 100 MQ (1) 100Q
02.62 A choke has 10H Inductance, at 100HZ AC, what is the reactance of choke-

(a) 628 O (b) 6.28KQ (c) 3140 (d) 314KQ
02.62 T =% § 10HZ=F9 &, 100HZ AC T, =T T U 4T gRM-

(T) 6280 (Gﬁ) 6.28 KQ (?:ﬁ) 3140 (ézr) 314 KQ
02.63 The voltage across an ideal coil leads the current through it by 90°. (True/False)
02.63 T sl el T Freest 4T & 90%A1T ¥ yarf2a 2rar 2 (TRT/AT)
02.64 Inductor is not used in filter circuit. (True/False)

02.64 Thee< Tfehe | YT T ITART Al (RAT SATAT 2 (TRT/AT)



02.65 Inductor is not used in Relay . (True/False)

02.65 =< &1 ITANT et H AT AT JTar ¢ | (GRUAEE)!

02.66 Alternator works on self induction. (True/False)
02.66 3T A SSHAT UL T LT gl (T=T )
02.67 Inductance of coil is directly proportional to number of turn of coil. (True/False)
02.67 Fi= T SSHAT FHISA & & i HEAT & HIel AATAF 2| (Tt TeAaT)

02.68 Inductance of coil is not inversely proportional to the length of coil. (True/False)
02.68 iz FT TSHAT FHic il AT & FHATIATAT A5l ZraT gl (T=T )

02.69 Inductance is the property of inductor which oppose the change of current flowing through it.
(True/False)

02.69 I¥ahca YT T dg 0T g ST (o767 Tg ATAT 1T o A HT (a2rel FLam gl GEIREL)



Answer Sheet

(). No. Ans. (). No. Ans. (). No. Ans.
02.01 b 02.24 a 02.47 T
02.02 a 02.25 [i] 02.48 T
02.03 d 02.26 F 02.49 T
02.04 b 02.27 T 02.50 F
02.05 a 02.28 T 02.51 a
02.06 b 02.29 c 02.52 c
02.07 b 02.30 b 02.53 b
02.08 d 02.31 c 02.54 a
02.09 b 02.32 a 02.55 b
02.10 d 02.33 b 02.56 a
02.11 a 02.34 a 02.57 a
02.12 c 02.35 c 02.58 b
02.13 T 02.36 b 02.59 a
02.14 T 02.37 c 02.60 a
02.15 F 02.38 b 02.61 b
02.16 a 02.39 a 02.62 b
02.17 b 02.40 b 02.63 T
02.18 d 02.41 b 02.64 F
02.19 a 02.42 F 02.65 F
02.20 a 02.43 F 02.66 T
02.21 b 02.44 T 02.67 T
02.22 c 02.45 F 02.68 F
02.23 d 02.46 T 02.69 T




Auto Electrical

03.01 Cell converts:-
(a) Mechanical energy to electrical energy
(c) Electrical energy to Chemical energy

03.01 &S Fae FAT B -
WIELEEETIKREE GRS
GUREESEEIERICIPICERCT ]

03.02 Battery gives-

(a) DC voltage (b) AC Voltage
03.02 d=ft gar %—
(7) ST Areest (&) T AR

03.03 Electrolyte is a mixture of-
(a) H2S04 and H20
(c) Pb + H20

03.03 To#FEIaATEE FT {7 8-
(T) H2504 and H20
(1) Pb + H20

03.04 Positive terminal of lead Acid Cell is-
(a) PbO2 (b) Pb
03.04 == TfHE | FT gATHF (AT -

(T) PbO2 (1) Pb

03.05 Dry Cell is a-
(a) Primary Cell

03.05 2TS & 2-
() i o

(b) Secondary Cell
(1) ThaT T

03.06 Lead Acid Cell is a-

(a) Primary Cell (b) Secondary Cell

03.06 =< TR & 2-
(7) Srrfae a (1) Jhs &
03.07 Primary Acid Cell is a............ Cell-

( a) Rechargeable ( b) Non Rechargeable

03.07 YTEHY TS 3 TF v T 2-
(7) R=TSTa

(b) Chemical energy to electrical energy
(d) None

(&) T St | FEE S
(B *rE =

(c) Both (d) None

(&) == (1) FrE TRl

(b) HCL and H20

(d) H20 + PbO2

() HCL and H20

(1) H20 +Pb0O2

(c) PbSO4 (d) None

(%) PbsO4 (O EIEGE
(c) Both (d) None

@) Tt (F) FrE T
(c) Both (d) None

(&) St (37) =g TE
(c) Both (d) None
(&) St (37) =g TE



03.08 Secondary Acid Cell is a............ Cell-

( a) Rechargeable ( b) Non Rechargeable (c) Both
03.08 = TfrE FTTF . T 2-

WRSIEER] () T =TS GUREI
03.09 Which cell is used in our track machine battery-

(a) Lead-Acid Cell (b) Dry Cell (c) Ni-cd Cell
03.09 AT & Wefte &t 9T | Fohe |1 T IR 2T &-

(U) w=-ufaE | (&) = A () Ni-cdqer
03.10 Which gas is produced during charging of battery-

(a) O, (b H (c) HaS
03.10 =<7 ATST FA % I &I H 39 FawherdT g-

(T) 0, (&) H, (&) H.S

03.11 What is the unit of battery capacity.
(a) Ampere Hour (b) Watt hour

03.11 St &9aT it TS F47 8l
() TFE S (1) = He

(c) Ampere Meter

(+1) TFER Hiex

03.12 Specific gravity is measured by-
(a) Hydrometer (b) Hygrometer

03.12 fafere T foreer g 97 ST 8-
(T) BTEgTHIET (1) BreTHTET

(c) Energy Meter

() T Hex

03.13 A full charge battery has-
(a) 36% acid + 64% water
(c) 60% acid + 40% H20

03.13 UH § =Tl Je<i 7 &-
(1) 36% ufe + 64% T
() 60% TuRre + 40% T2 @

(b) 50% acid + 50% water
(d) 30% acid + 70% water

(&) 50% TfdE + 50% T
(F) 30% Tl + 70% T

03.14 How many cells in one battery in track machines-

(a) 8 (b) 6 (c) 12
03.14 2% wefi=i § Us J21 | Foha+ ¥ g &-
(m) 8 () 6 (&) 12

(d) None

(3N) T TR

(d) None

(3N) T TR

(d) NH;

(Z1) NH;

(d) Kilowatt Hour

CUREIEICAE

(d) Speedometer

(3) ==



03.15 What is the range of specific gravity of old battery-

(a)1.26t0 1.28 (b) 1.15t0 1.25 (c)1.18t0 1.28 (d) 1.10to 1.30
03.15 T it & Tafrg [&ea sl AT F47 2-

(7) 1.26 7 1.28 (ff) 1.15 ¥1.25 (71) 1.18 ¥1.28 (1) 1.10 ¥1.30
03.16 What is the voltage of a cell of battery in full charge condition-

(a) 2v (b) 1.8V (c)1.5v (d) 2.1V

03.16 < =TSt (Rt | J27 F | &7 Flees fohaAT 2raT 8-

() 2v (sf) 1.8v (%) 1.5v () 2.1v
03.17 What is the capacity rating of general battery in machine-

(a) 180AH/25P (b) 150AH/21P (c) 55AH/9P (d) None
03.17 9 & ATHTT 2T T THaT 1T 7 8-

(7) 180uu=/25%F (sft) 150uT=/214 (%1) 55UT=/9dT  (S1) S F@r
03.18 What is the voltage of dry cell-

(a) 1v (b) 1.2V (c)1.5v (d) 2v

03.18 TS T T ATeesl FhadT gIaT 2-

(@ 1V () 1.2 v (|1) 1.5 v () 2V
03.19 What is the connection of battery in machine-

(a) Parallel connection (b) Series connection (c) Both (d) None
03.19 wefiF ® S FT AT FAFAT &-

(T7) THTATAT FHelererd CHIREEIETEST] (=) == (1) FrE TGl
03.20 How many battery in UN-3S machine-

(a)2 (b) 3 (c)4 (d)1

03.20 UNI-3s 7efie & fohrat et gt -

(W) 2 (1) 3 (¥1) 4 (1) 1
03.21 During charging more than one battery is connected-

(a) In parallel (b) In series (c) Both (d) None
03.21 =TT & I UF F T8 St [t gl o-

(T) T | CHREEIE (=) == (1) FIE TG

03.22 A fully charged battery contains a negative plate of-
(a) Sponge lead (b) Lead oxide (c) Both (d) None
03.22 I T8 | AT &l T2 Sl § TFH THHT *ie gidl a-

(W) & oI IS (1) &= (31) =g T



03.23 What should be the electrolyte level above the plate in each cell of the battery-

(a) 8-10mm (b) 40 -50mm (c) 10-15mm
03.23 1 & TAF 4 § T2 o FUL TAFLATEE ¥ oha T BT AT U-
(7) 8-10 oy (sft) 40 -50 oy (%1) 10-15 fay
03.24 What should the minimum discharge voltage of each cell of battery

(a) 2v (b) 1.8V (c)2.1v

03.24 T & TAF T AT IATH [SEATS Aleesl [ohadT [T AR T

(m) 2V () 1.8 v (|1) 2.1 v
03.25 Battery should normally charged by-

(a) High current (b) Low current (c) Medium current
03.25 S &7 AT &9 § AT (/AT ST ATRT -

WISERIN (1) F e (+fT) e AT

03.26 Numbers of plate in battery is denoted by-

(a) Even Number (b) Odd number (c) Both
03.26 =<1 | i Fit eAT ok gy A= aa dit ST 8-
(7) |/ "EqT CUREREE I GUEEEL
03.27 Battery is charged by —
(a) AC Voltage (b) DC Voltage (c) Both
03.27 a3 foheeh 51T ATt o STt & -

(T) THT FreesT () T Ao (1) ==

03.28 What is the capacity of programmer battery in 09-3X machine —

(d) 20mm

(&) 20 faf

(d) 1.5V

@ 15V

(d) None

(3N) T TR

(d) None

(3N) T TR

(d) None

(3N) T TR

(a) 180AH/25P (b) 200AH/27P (c) 70AH/13P (d) 150AH/21P
03.28 09-3x TefiT H THITHT 27 ¥ 79T 47 & -

(7) 180Tu=/25¢F () 200Tu=/27d% (1) 70Tu=/13dt (31) 150TT=/21dT
03.29 Open Circuit voltage test of battery is done by - Sun VAT-40 tester/Hydrometer
03.29 =T &7 A9 Flehe Freest oee foheeh gIT 3T STaT g - a9 de -40 Ters [ gregHie

03.30 Below 9.6V the battery will defective.
03.30 9.6V & FF Jit @I gl AU

03.31 We should not apply petroleum jelly on the terminal after cleaning.

03.31 gH THTS * AT HA T USITTH AT A5l AT AR

(True/False)
(TRT/ATeA)

(True/False)
(TRT/ATeA)



03.32 We should always use distilled water in battery. (True/False)
03.32 g =& o gaaT RfRece afey #1 s¥dqTer #3471 AT (TRT/ATeA)

03.33 While removing the connections of battery remove the negative terminal first and then the positive

terminal. (True/False)
03.33 47 & FAFAT Fl 2Td THT Tgol A91ed STHAA il geT & 3 (e qiforfed ZfHa &7 |
GRUAEK))

03.34 In a fully discharged battery both plates do not cover with lead sulfate(PbSO4).  (True/False)

03.349% a7 & FREaTst &l M5 dedi § Tl wie o€ qothe (PbS04) | Tehl A5l gl gl (AR I/Tq)

03.35 Ampere hour capacity of a battery is not directly proportional to number of plates and size of plates.
(True/False)

03.35 3T #if TFITAT = HAT Tiel i HEAT Si¥ Wiel & STRT & Hlel AT Agl gidl gl
(TET/AT)

03.36 The life of battery can be shorted by long idle period in discharged condition. (True/False)
03.36 FREaTst i Rufa § oo G907 a& ATCHT T & 920 6l ATSF ®F 8l hdl gl (Tel/ATed)
03.37 When cell specific gravity is down to about 1150 the cell is completely discharged. (True/False)

03.3751a &<t fafere T&ca et 1150 T F7 g7 SI7AT & af oo I %8 o [SFaTsl 2l 1T gl (Fal/ard)

03.38 Alternator converts........cccceeeveeeeeeneee. -

(a) Electrical energy to mechanical energy (b) Mechanical Energy to Electrical energy
(c) Mechanical Energy to Chemical Energy (d) None

03.38 HTaTAeT FAAC AT G wovvvrrrrrrrrrnns -

WREEESIERIEEISIT CURUEEESIERERSIER]

&) T et & T E e (1) FrE TRl

03.39 Alternator initially generates-

(a) A.C. Voltage (b) D.C. Voltage (c) Both (d) None

03.39 T UTEH § IcqH F¥dT g-

(T) THT Ao (&) STt Ao (#f1) = (Z1) =T &

03.40 What is the output of alternator
(a) 24V dc (b) 12V dc (c) 27V to 28V dc (d) 32V dc

03.40 sreeT-e T AT FAT &2
(W) 24 =1 T (&) 1241 ST (¥t) 274 7 2841 ST (1) 324t ST




03.41 How many alternators used in 09-3X machines-

(a) 2 (b) 1 (c)3 (d) 4

03.41 09-3x mefiat & fraer sea<may T ITANT FohaT STaT 2-

(W) 2 (&) 1 (1) 3 (1) 4
03.42 Alternator works on-

(a) Self Induction (b) Mutual induction (c) Both (d) None
03.42 T FTH FAT 2-

(7) &= JTor CHRISRIEER T GUEEEL () = T2l
03.43 What is the current rating of Alternator of New Duomatic Machine —

(a) 45A (b) 55A (c) 120A (d) 110A
03.43 7 AT HfT F sTeetdet i Fe ST FTE -

()45 @ () 55 T (|1) 120 T () 110w

03.44 What is the current rating of RM-80 92U machine —

(a) 120A (b) 140A (c) 55A (d) 110A
03.44 RM-80 92U wefiw T iz T FAT & -
(m) 120 ©w () 140 ©w (|1) 55 @ () 110w

03.45 How many number of alternator in FRM 80 machine-

(a)2 (b) 3 (c)1 (d) 4

03.45 FRM 80 we¢fie ® fohaer sTeeex g-

(W) 2 (&) 3 (¥f1) 1 (1) 4

03.46 What is the position of warning lamp during charging of battery —

(a) ON position (b) OFF position (c) Flickering position (d) None
03.46 <1 ATST FHLd THA FTT AFT T (BT FAT G -

(w) =meg Featar () = Fafa (+1) Temfenrdt Rafa () =< T8t
03.47 How many diodes in alternator rectifier pack-

(a)4 (b) 6 (c)9 (d) 2

03.47 Heetael IaewrEe I § fohaw Te g &-

(W) 4 (&) 6 (#1) 9 (1) 2

03.48 Alternator is not used to charge the battery. (True/False)

03.48 =1 ATS F¥A & o0 [T T SUANT A1 FhAT ST 2 GEINAEL)



03.49 Alternator is connected in parallel in engine circuit.

03.49 3e¥e? =9I Hishe H AL | [T gl &

03.50 Three alternators are used in UNI-4S machine.

03.50 UNI-4S |efie & i steeeae &7 ST 36T 1T 2

03.51 Three alternators are used in DGS machine.

(True/False)
GERAEE))

(True/False)
GEIRAEE))

(True/False)

03.51 Sisfrus qefim & i steete T ITART AT JT4T 2

03.52 Stator does not have three phase winding.

03.52 TxeT # ot et arefE A3t 2

03.53 Self Starter converts-
(a) Electrical energy to mechanical energy
(c) Chemical energy to Electrical energy

03.53 #eF T T5dT &-

WREESESIEEUEER ]

(+T) TETEE Sert | @R St

03.54 Self Starter used in machine having-

(a) 12V (b) 24v
03.54 &oF e 7= § T gial &-
(m) 12 =t () 24 =t
03.55 Self starter works in-

(a) One Stage (b) Two Stage

03.55 HeF TeTe FHTH FAT 8-
(T) T =IO (&) & =

03.56 How many power capacity of self starter-
(a) About 5HP (b) About 4HP

03.56 #H<F ware #Y ot e awar-
(T7) RTT 5 =y (1) TTEr 4 Ty

03.57 The drive end bearing is lubricated by-
(a) Grease (b) Shell Tellus 33 oil

03.57 31=a U 9AT e g qieehe T smar g-
() (&) ot ¥ 33 3

GERAEE))

(True/False)
GERAEE))

(b) Mechanical Energy to Electrical energy
(d) None

CHIRIEEENIEREE G

(S wre TE

(c) 6v (d) 18V

(71) 6 =t () 18 =
(c) Three Stage (d) None
(&) de ==z O EIEEE
(c) About 6HP (d) None

() T 6 T (F) FrE S

(c) 15wW40 Oil (d) HLP-68 oil

&) 15W40 31 (&) TETA -68 I



03.58 Solenoid switch is similar to a Relay- (True/False)

03.58 #HreAze fa= et % 991 8- GERAEE))
03.59 Self starter is used for charging the battery (True/False)
03.59 =1 T =TSN FA F o0 Aoh T 7T ITANT a7 ST 8 (Tt /ATq)

03.60 Solenoid switch pushes out the drive pinion to engine flywheel. (True/False)
03.60 HeIze o= gred MATHa &l 399 TTsoad ¢ ghedT gl GEINAEL)

03.61 Two self starter are not used in BCM Machine. (True/False)
03.61 TR i | T HoF T FT ITART A1 (hAT ATAT GERAEE))
03.62 Two self starter are used in 09-3X machine. (True/False)
03.62 09-3x wefiTr # &7 HeF TETe HT ITANT AT 1T 2 GEINAEK))

03.63 Relayis a ...ccoveeveeceeevenenne, -

(a) Electrical switch (b) Mechanical switch

(c) Hydraulic Switch (d) Pneumatic Switch

03.63 o TH e - %

WRERCREEK] CIRUEEAIEE
GUIRESUEEREE CEHIEIREIRRIZE]

03.64 EL-T-663 iS @..cuevevereererrerieee e -

(a) 11Pin Relay (b) 12Pin Relay (c) 8 Pin Relay (d) 5 Pin Relay
03.64 TUA-H-663 TF ....ccovcveeerceen %’-

@ 11 fmfsr @ 12 fmfs (@) 8 fmfsr  (F) 5 b

03.65 Which relay is used in lighting & Horn circuit-
(a) EL-T 663 (b) EL-T 1218 (c) EL-T 7010 (d) None
03.65 ATS(ET 3T giv |fhe | fore Rt 1 IT=NT FohaT STTaT 2-

(T) TUA-EF 663 (&) Tua-dr 1218 (H1) Tua-ér 7010  (31) FE A=l

03.66 Which relay used in tamping unit position circuit-

(a) EL-T 7045 (b) EL-T 7002/54

(c) EL-T 277 (d) EL-T 7010

03.66 <fber gfae Tiforer afdhe § v ot 7 ST T ST 8-
(W) Tua-Er 7045 (&) Tuer-t 7002 / wH 4

(&) Sua-H 277 (F) Tua-H 7010



03.67 Which Relay used in Engine Circuit-
(a) EL-T 663 (b) EL-T 277 (c) EL-T 7010 (d) None
03.67 =9 "fehe | fohe T &7 TIRT R T ST 2-

() -1 663 (@) U277 () SR 7010 (3) FrE A

03.68 Which relay operated by 12V and 24V —
(a) EL-T 7010 (b) EL-T 7045 (c) EL-T 277 (d) EL-T 663
03.68 =19 |7 f¥er 12V 3T 24V FRT HATd grarl g -

(W) Tua-dr 7010  (dft) Tuar-dr 7045 (i) Tua-dr 277 () Tua-4 663

03.69 Which relay pin diagram is same-

(a) EL-T 7010 & EL-T 7045 (b) EL-T 663 & EL-T 277

(c) EL-T 7002/S4 & EL-T 7002/S2 (d) None

03.69 =i« |7 et U= ST 991 2-

() 2uar-Er 7010 % Sua-Zr 7045 () Tua-Z1 663 3f¥ suw-F 277
() Tua-Er 7002/1w4 37 Sua-Er 7002/TH2 CUEIERE

03.70 Which relay is used in over slew circuit.

(a) EL-T 7002/54, (b) EL-T 7002/S2

(c) EL-T 7002/52-L2 (d) EL-T663

03.70 &< & Afhe H o e T ITIRT 63T 14T &

(1) Suer-£ 7002 / UH 4 () Suer-& 7002 / TH2

(&) Euer-& 7002 / UH 2-U 2 (3N) Tuar-& 663

03.71 Which Relay is used to operate the Hydraulic Solenoid-

(a) EL-T 7002/S2 (b) EL-T 7002/S4

(c) EL-T 7045 (d) EL-T277

03.71 gregIfers AeIzs &l GATOId Fee o for o ey 7 STt R e 2-

(1) Suer-& 7002 / UH 2, (@) ua-§ 7002 / vH 4

(&) SuA-Er 7045 () Tuw-& 277

03.72 Relay works on Electromagnetic principle- (True/False)
03.72 =t Geagaea ffEia o w1 #ar 2| GRUAEE!
03.73 Arelay has NC and NO contacts- (True/False)
03.73 UF X | NC 3T NO 59+ 2| (TRT/ATeA)
03.74 EL-T 7002/5S4 relay do not have all No Contacts. (True/False)

03.74 EL-T 7002/54 o=t & 7sft NO 9% 981 2| (TRT/ATeA)



03.75 Relay EL-T 7002/S2 and Relay EL-T 7002/52-L2 do not have opposite contact.
(True/False)

03.75 f=r EL-T 7002/52 i =% EL-T 7002/52-12 & g avd adi 21 (wv/rer)

03.76 Relay EL-T 7010 does not have 3NC and 3 NO contacts. (True/False)
03.76 = EL-T 7010 ® 3NC 3T 3 NO €9 Al &l GEVAEE)!
03.77 At which lube oil pressure engine will shut down. —

(a)at 2.5 (b) below 1.5 (c)at 5.5 (d)at 3.5

03.77 S 9T & A 9% 99 98 gl ST -

(w) 2.5 9¥ () 1.5 = (%) 5.5 7% () 3.5

03.78 In CSM Engine circuit lube oil pressure switch is

(a) NO type (b) NC type (c) Both (d) None

03.78 CSM ST dfehe § & A Yow Fa= g

(T) NOY=TT (=ft) NC TR (1) == CEHEIELE

03.79 In new Duomatic engine circuit by pass switch is

(a) NO type (b) NC type (c) Both (d) None

03.79 9T TAHTEF 99 Alhe H A9 Fa9 ¢

(T) NO F&FTT (=ft) NC TR (1) == CEHEIELE

03.80 In CSM machine at 950C & above, engine will..................... -

(a) Not stop (b) Stop (c) Only Indication will come (d) b & c both
03.80 CSM Hef™ § 950C 3T IHH AT TT, TAT ooovvvrrrrne -

(T7) &AT ART EOEEER GUEEREEREE L (=) & sz = =T

03.81 What is the function of time delay circuit in new Duomatic Engine Circuit-
(a) During starting separate the programmer battery and working light

(b) To start the engine hour meter

(c) To safe the self starter

(d) To safe the alternator

03.81 9T AT e T99 afehe # 212w oot afehe 1 741 14 2-

(T7) STTITHT X ST T HT T THRTET [ T & Fld 6 G

(1) EST 5 HIeT 9% Tl o o[

() T TETE il GRIerd Fe o (o0

(ZT) ST Tl AT Hl o [T

03.82 In CSM Engine Circuit which is directly connected to Battery-
(a) Mechanical Recorder (b) GVA (c) Laser Charging System and Techograph  (d) None
03.82 CSM =T |{ehe § ST HTer sedl & [T graT &-

(7) Herfaaer s (&) st () St FiseT ey i T CUEIEGE




03.83 In CSM Engine Circuit. How many numbers of stopper switch is provided.

(@)5 (b) 8 (c)7
03.83 HITHUH 59 Hehe §| T(U¥ = T Foha«T =T TaT+ i 1 8l
(7) 5 (@) 8 (#1) 7

03.84 In Latch type engine circuit hold relay are used.
03.84 oI 2127 3914 lehe § gleg el T ITART FohaT Srar 2

03.85 Non Latch type engine circuit is in CSM machine.
03.85 I o9 2127 391 Glehe HIuaur 7ol H 2|

03.86 Latch type engine circuit is used in WST.
03.86 WST- H o= 2127 SoI Hehe T ST (T SITAT 2

03.87 To charge the battery is not function of engine circuit.

03.87 &<t TS HTAT o1 Hehe FT F14 A21 2

03.88 If ZF switch is ON then engine will not start.

03.88 If% ZF f¥a= A & AT 919 w21 A5l 2R

03.89 If engine is running mechanically then engine circuit is not by passed.

03.89 ITT 919 AT T & A LT 2 AT S Aiehe a1 ITH A5l 8l

03.90 If main switch is ON engine can not be started.

03.90 =T 9 o= &AfF € T S99 =T Al AT ST AhaT|

03.91 When emergency stopper switch is ON position engine can be started.

03.91 ST& SATITARTA 1 FFa= AT BT, AT S50 =T T ST Hha T &

03.92 During engine running if battery switch OFF then engine will......... -

(a) Not stop (b) Stop (c) Cease
03.92 319 & FA o G TTQ T 9 3T ATAT & AT T e, -
(T7) &AT BT ELEEER GEEER

03.93 Ignition key in CSM in-
(a) Front cabin (b) Working cabin

03.93 Hrueruw # giRrer ot gt § |
(T) She e CUEIEREICE]

(c) B13 Panel

(1) &t 13 T

(d) 4
(=) 4

( True/False)
(FET/TAa)

( True/False)
(FET/TAa)

( True/False)

GEVAEE)

( True/False)

GEVAKE))

( True/False)

GEVAKE))

( True/False)

GEVAKE))

( True/False)

GEVAKE))

( True/False)

GEVAKE))

(d) None

SEIERE

(d) None

(ST) FTE TE



03.94 What is the function of bypass switch in CSM machine.
(a) To bypass shutdown coil (b) To switch OFF Engine
(c) To by pass pressure switch (d) None

03.94 CSM Hefe § aTeaTa 2= T 797 %17 2
(T) STESTSA FITA T GTTATH F4A & (70 () TI9 a2 F44 & forw
GURIGECIERTZ -k (3T) TS 7T

03.95 Name of 13d1 Relay in CSM engine circuit is-

(a) EL-T663 (b) EL-T7010 (c) EL-T277 (d) EL-T7045
03.95 CSM =919 |ehe § 13d1 R FTATH E

(1) TuA-£663 (&) Tua-87010 (#) Toa-£277 (1) TuA-£17045

03.96 When ZF key and main key are ON which Relay is energized?

(a) 5u5 (A) (b) 5u5 (D) (c) 5u5 (E) (d) 13d1
03.96 ST ZF FS(T 31T & Frotl AT gl g af I AT ol AT 2ravg?

() 5u5 (1) (s1) 5u5 (3T (¥f1) 5u5 (2) () 13d1

03.97 What will happen in engine if by pass switch is released before coming lube oil pressure-
(a) Engine will not shutdown (b) Engine will shutdown

(c) Engine will overheat (d) none

03.97 T AT YT A F gl Ffa a1 a1 = 7 g a7 1w a7 S50 | F41 g
WESREEE Rk CUESEEEEUEIR

(¥fT) ST 7T BT ST (1) FTE TR

03.98 What is the name of 5b8 or 11b8 switch in CSM Engine Circuit-

(a) Starting switch (b) By pass switch (c) Pressure switch  (d) Temp. Switch
03.98 CSM ST | ehe | 5b8 AT 11b8 &a= T ATH FAT &?

(7) = 0% FeAT (&) 9T Ra= g GUEEIERZE] (=) TF=T fRae

03.99 What is function of 5u5 (D) relay in CSM engine circuit-

(a) To start the engine (b) To stop the Engine
(c) To Indicate the running system (d) none

03.99 CSM ST | ehe | 5u5 (D) Fet &1 T 1 2-

() ETT 91& T & forg (1) Z5 T T 3 o

() =1 T Toreew &7 SR e o forw SIEIEGE

03.100 Lube oil pressure switch is safety component of engine circuit. ( True/False)
03.100 & AT T2 f7a= T Flehe T GLAT AT & | (T=/TT)
03.101 Alternator is connected in series in engine circuit. ( True/False)
03.101 AT To Hishe | JTAT H JET g 2 | (GRVAEE)
03.102 Engine hour meter is run by alternator in CSM engine circuit. ( True/False)

03.102 T SATET HIeT HIUHUH 579 Hiohe | et es gl AT SATaT 2| (GRVAEE!



03.103 Relay 5u5 (E) is used for Indication engine running system . ( True/False)
03.103 =T 5u5 (2) T STANT S AT [FEeH SIEhe & o0 FohaT JTar (GRTAEL))

03.104 Clutching and declutching operation in Z.F. Gear Box is controlled by

(a) Electrical system (b) Mechanical System (c) Hydraulic System (d) Pneumatic System
03.104 SIEUF § FAT=RT 3% R t=1 sttaeer e afew gy =t e smar g

(7) farra soTTett EURIEERRIEI (1) ZrEgifers gorrett (1) =gAfesh gumrett
03.105 How many numbers of solenoids for clutch operation in Z.F. Gear Box —

(@)5 (b) 4 (c)6 (d)3

03.105 Z.F fe it § o= a9 & forg o graeizs 21

(T) 5 (M) 4 (¥fT) 6 (1) 3

3.106 Which solenoid is common for forward direction in all gears?

(a) M4 (b) M1 (c) M3 (d) m2

03.106 TT Rra¥ § sy st feer 3 forg &1 |7 "rais e 9= 8?2

(7) TH 4 (1) 7w 1 (=) T 3 (ST) TH 2

03.107 If break pressure is 3 and more what will happen in Z.F. Gear Box ?
(a) Z.F. will Neutral (b) Z.F. will not Neutral (c) Z.F. Gear will be damage (d) No any action

03.107 T s Y91 3 IT T T2 g a7 Z.F [ i & F247 gRme?
(T) STe.T. e =2 (b) Z.F. TeeT A5l g1 () SIEUE R @ g1 ST (ZT) FTE FLATE T2l

03.108 Which solenoid will energized when two no. gear is selected in reverse direction ?

(a) M1 & M4 (b) M2 & M4 (c) M1 & M3 (d) M1 & M4
03.108 FI¥ &1 HIAAIZE T gIIT o190 &1 7 R hf f{osiq fRem § Far sar g ?

(M) TA1ATTHA (1) TH 2 T TH 4 (+fT) T 1 ST 7w 3 (ST) TH 1T T 4
03.109 What is the name of 5b26 & 11b26 switch in Z.F. Circuit—

(a) Pressure switch  (b) Pneumatic switch (c) Hydraulic by pass switch (d) Limit Switch
03.109 Z.F Tshe H 5b26 3T 11b26 &a= &1 FATATH &?

(7) o A= () FgAfer = (1) gresifers a8 T e grar (@) ofae fa=
03.110 In working position which LED will glow on B19 panel in CSM machine?

(a) Green LED (b) Red LED (c) Both (d) None

03.110 Froauy gofta & 119 T9er 9% F19 w2 it Fofa & Fr =t versst Fqai1?

(1) 1 TergEt (fT) T= werEt (1) Zr=t (<) FrE 72T
035.111 What is the function of lock up solenoid ?

(a) To operate forward clutch (b) To operate reverse clutch

(c) To operate converter clutch (d) none

035.111 AT T FTATIZS T FIT FH 82

(T) FITAE F ATALE T2 & [0 (&) Fad For= e F F o

(HT) FTEL FAT AALE FIA & [0 CHEIEGE



03.112 Where is fitted RPM sensing transducer in Z.F. gear box?

(a) On impeller (b) On stator (c) On turbine (d) None

03.112 SIEUF R Sia & TR ST S8 gl @mT T4 872

(1) EeAT T (ff) TeT we GUESCIELRES (1) F7E =X
03.113 In which assembly of Z.F. gear box solenoid is fitted?

(a) Torque converter (b) Shifter assembly (c) In B28 panel (d) gear assembly
03.113 SIEUT [T ata i fohe sreactl | qradise [the a1 17 82

(T) 2t Frae (@) forew sraett (F ) AT 28 T | EIUREECEL
03.114 At which Z.F. pressure fault indicator shows red indication?

(a) Less than 12 bar (b) Less than 10 bar (c) At 14 bar (d) At 12 bar
03.114 {3 SIS.U%. TaT9 I¥ HIeE Tohd® ATl Hehd (o@TdT 82

(T) 12 7 %9 () 10 T w7 (d1) 14 o< (N 12 9T
03.115 At which Z.F. temperature fault indicator show red indication?

(a) At 100°C (b) More than 110 °C (c) At 80°C (d) none

03.115 S U< 2. . qTIHTH &9 Heoha s AT Hohd [a@TdT 82

(7) 100%T T (1) 120° = & srfarer (+1) 80° € 7¥ EUEIEGE
03.116 Z. F. Gear Box is a Hydrostatic gear box . ( True/False)
03.116 Z. F. ¥ it Us gregeefe® fae aia g (GRFAEE))
03.117 Shifter Assembly is a brain of Z.F. Gear Box. ( True/False)
03.117 FOreex st 2.F R ate &1 fTmmr 21 (GEIWAKE)
03.118 In Z.F. circuit from G32 supply goes to engine circuit. ( True/False)

03.118 SITUW Afhe § G32 AIATE o9 Tehe H SATAT 2 GEIWAE))



Answer Sheet

Q. No. Ans. Q. No. Ans. Q. No. Ans.
03.01 b 03.41 c 03.81 a
03.02 a 03.42 a 03.82 c
03.03 a 03.43 b 03.83 c
03.04 a 03.44 a 03.84 T
03.05 a 03.45 c 03.85 T
03.06 b 03.46 . b 03.86 T
03.07 Non-rechargeable 03.47 c 03.87 F
03.08 Rechargeable 03.48 F 03.88 T
03.09 a 03.49 T 03.89 F
03.10 b 03.50 T 03.90 T
03.11 a 03.51 F 03.91 F
03.12 a 03.52 F 03.92 a
03.13 a 03.53 a 03.93 b
03.14 b 03.54 b 03.94 b
03.15 c 03.55 b 03.95 b
03.16 d 03.56 c 03.96 a
03.17 a 03.57 b 03.97 b
03.18 c 03.58 T 03.98 a
03.19 b 03.59 F 03.99 b
03.20 c 03.60 T 03.100 T
03.21 b 03.61 F 03.101 F
03.22 a 03.62 T 03.102 T
03.23 c 03.63 a 03.103 T
03.24 b 03.64 c 03.104 a
03.25 b 03.65 b 03.105 b
03.26 b 03.66 c 03.106 b
03.27 b 03.67 c 03.107 a
03.28 c 03.68 b 03.108 b
03.29 Sun VAT-40 tester 03.69 b 03.109 c
03.30 T 03.70 c 03.110 b
03.31 F 03.71 b 03.111 c
03.32 T 03.72 T 03.112 c
03.33 T 03.73 T 03.113 b
03.34 F 03.74 F 03.114 b
03.35 F 03.75 T 03.115 b
03.36 T 03.76 F 03.116 F
03.37 T 03.77 b 03.117 T
03.38 b 03.78 a 03.118 T
03.39 a 03.79 b

03.40 c 03.80 d




